Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 9 - Ellon and District

5,515

4

1,104

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Isobel DAVIDSON	Scottish Liberal Democrats	1,087
Anouk KAHANOV-KLOPPERT	Scottish National Party (SNP)	768
John P MORGAN	Scottish Labour Party	415
Gillian OWEN	Scottish Conservative and Unionist	2,258
Richard Gordon THOMSON	Scottish National Party (SNP)	987
	Total	5,515

Candidate Gillian OWEN Elected with 2,258 votes, being in excess of the quota of 1,104

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Gillian OWEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Isobel DAVIDSON	1,207	0.51107	616.86149
Transfer to Anouk KAHANOV-KLOPPERT	50	0.51107	25.55350
Transfer to John P MORGAN	261	0.51107	133.38927
Transfer to Gillian OWEN	0	0.00000	0.00000
Transfer to Richard Gordon THOMSON	92	0.51107	47.01844
Value of non-transferable ballot papers			331.17730
	Total		1,154.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Isobel DAVIDSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Isobel DAVIDSON	0	0.00000	0.00000
Transfer to Anouk KAHANOV-KLOPPERT	41	0.17992	7.37672
Transfer to Anouk KAHANOV-KLOPPERT	122	0.35206	42.95132
Transfer to John P MORGAN	626	0.17992	112.62992
Transfer to John P MORGAN	497	0.35206	174.97382
Transfer to Gillian OWEN	0	0.00000	0.00000
Transfer to Richard Gordon THOMSON	58	0.17992	10.43536
Transfer to Richard Gordon THOMSON	140	0.35206	49.28840
Value of non-transferable ballot papers			202.20595
	Total		599.86149

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of John P MORGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Isobel DAVIDSON	0	0.00000	0.00000
Transfer to Anouk KAHANOV-KLOPPERT	108	0.17992	19.43136
Transfer to Anouk KAHANOV-KLOPPERT	112	0.35206	39.43072
Transfer to Anouk KAHANOV-KLOPPERT	41	0.51107	20.95387
Transfer to Anouk KAHANOV-KLOPPERT	101	1.00000	101.00000
Transfer to Gillian OWEN	0	0.00000	0.00000
Transfer to Richard Gordon THOMSON	82	0.17992	14.75344
Transfer to Richard Gordon THOMSON	89	0.35206	31.33334
Transfer to Richard Gordon THOMSON	46	0.51107	23.50922
Transfer to Richard Gordon THOMSON	101	1.00000	101.00000
Value of non-transferable ballot papers			484.58106
	Total		835.99301

N.B. The figures may not add due to rounding.